
  



  

DUE DERIVATE AL VOLO
y=ln(sin2 x)

Dln(x)=1
x
⋅x '=1

x

Dln(x2)=1
x2

⋅2 x=2
x

Dxα=α xα−1

Dsin (x)=cos(x)
Dsin2(x)=2sinx⋅cos x

y '= 1
sin2 x

⋅2sinx⋅cosx=2sinx⋅cosx
sin2 x

y '=2 cosx
sin x

=2cot x



  

DUE DERIVATE AL VOLO

Dln(x)=1
x
⋅x '=1

x

Dln(x2)=1
x2

⋅2 x=2
x

D
f (x)
g(x)

=
f '(x)⋅g(x)−f (x)⋅g '(x)

g2(x)

y=ln x
2−1
2 x+3

y '= 1
x2−1
2 x+3

⋅(.)'
( x
2−1
2 x+3

)'=
2 x (2 x+3)−(x2−1)2

(2 x+3)2

y ' =1
x 2−1
2 x +3

⋅
2 x (2 x +3)−(x 2−1)2
(2 x +3)2

=
2(x 2+3 x +1)

(x 2−1)(2 x +3)
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